ENA

@A fREOS

g

RERADIIED B

FELX 4

RERADMNIED

EENKEHEE

(H Fpk2sE4H 1H  F VrkeeE3H31H) (B 1)
EhEs B THE R FEN %
U ]125 H 7 EIUA 18, 755, 000 18, 825, 777 AT0, 777
fE[ ] OL Srafaft 2 A 18, 160, 000 18,175, 125 A15,125
* 04 R A AHAEA 595, 000 650, 652 ADb5, 652
S 127 BRH R BB A 10, 000 11, 000 AT1,000
5 01 FH BB A 10, 000 11, 000 AT1,000
ol 129 HEULA 64, 000 67, 250 A3, 250
e 01 HELA 64, 000 67, 250 A3, 250
X 131 52 HUR) S B Y AU A 600 595 5
% 01 =2 HA BT 4 A 600 595 5
g FEpE UL GH4) 18, 829, 600 18, 904, 622 AT5,022
X %1092 A5 3 H 14, 638, 800 14, 835, 158 A196, 358
H 02 BB &G 9, 340, 000 9, 289, 580 50, 420
03 B E#ETY 3, 400, 000 3,471, 700 AT1,700
06 R I 4 178, 800 178, 800
07 HEEERIE 1,720, 000 1,895,078 A175,078
093 FHHELH 1,788, 800 1,751, 358 37, 442
01 f&FIEA 2 60, 000 53,517 6, 483
02 ikt 2z mty 3,500 3,225 275
03 AFfis 2 10, 000 10, 000
04 JHEESE 112, 000 117,177 Ab, 177
05 #3 ELA-25% 21, 000 20, 791 209
07 JKE e 96, 000 92, 505 3,495
08 #REHE 170, 000 164, 708 5,292
10 @13 ERE 62, 000 60, 562 1,438
12 555 9, 800 9, 800
14 FHokt 1, 500 1,050 450
15 fpokt 70, 500 70, 102 398
16 &t 1,140, 000 1,116,077 23,923
17 FABLARE 450 A450
20 HUHRE 30, 000 29,019 981
21 T EHE 2,500 2,375 125
094 FEH L 1,169, 000 1,200, 697 A31, 697
01 ¥ R% 110, 000 120, 259 A10, 259
02 PRufs A2 170, 000 200, 470 A30, 470
04 {TE & 195, 000 186, 284 8,716
05 F Jf 5 E 35, 000 27,733 7,267
06 /KJE SR 144, 000 138, 754 5,246
07 #REHE 250, 000 252, 062 A2,062
08 JHEEE 16, 000 25, 287 A9, 287
09 ZREAE3 % 30, 000 27,595 2, 405
10 #Heht 26, 000 31,918 A5, 918
13 fpokt 127, 000 126, 648 352
16 Bk 2 45, 000 43,527 1,473
17 =0 EHEE 21,000 20, 160 840
097 AR 5 AR A H 1, 200, 000 1, 200, 000
01 FREEX 5y i A4 3 1,200, 000 1,200, 000
fE k3 E5) 18, 796, 600 18,987,213 A190, 613
@Ak TR B B N S ERR(6)=(4)-(5) 33, 000 A82, 591 115, 591
it | 1
E4PN e B UG H(T)
B3




BN EHES

(H P25 4H 18 F P26 3H31H) (B 1)
EEFRH THE R peL %
P | H
%
Iz
X
%
I
53 it B i 25 S EH(8)
e 5 i 25 B AN S A2 A(9)=(7)-(8)
B[ %
Bl BEBSIAGH(10)
it B3
Gl s
el
X
)
g
53 s 3 HEH1D)
B TR BN E SIS 240(12)=(10)-(11)
THE(13)
W AN FERA A RT(14)=(3)+(6)+(9)+(12)-(13) 33, 000 A82, 591 115, 591
RITR A E 47 = (15) 5, 885, 052 5, 885, 052
IR NG A (14)+(15) 5,918,052 5,802, 461 115, 591




